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N. B.: (1) Question No. 1 is compulsory.

(2) Atternpt any three out of remaining five questions. DY

(3) Assume suitable values if required. ﬁ?
1. (a) With neat sketches explain input-output characteristics of BJT in CE 555
configuration. AL
(b) Explain zero temperature drift of JFET. 5 S
(c) Draw output voltage waveform for the given circuit. v @ §
. 3=
2 mn e
ey
S \“-
Viu N
%' L
N
20Vp_p. |k o
3D
N / b‘ T S
0‘_ e :\v
. ) :—5"'
(d) Determine output voltage Vo for thecircuit shown. 5
9 l MFY‘:;&‘(
o o
1o _ %
ey
. - {_J :
20 K) =look
w5y, T /
& ‘\".:1._ e — v
=
.
,i__r"'}.."‘-.
\ ‘U | TURN OVER
b

"X
_+~MD-Con. 10471-115.

-




tc/m/emlercs/=
2 QP Code : 5217

2. (a) An amplifier circuit is shown in the figure. Determine the co-ordinates 10

of the operating point Q the stability factor S, & Av.
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(b) Differentiate enhancement and depletion typ&\IyIO SFET. : 10
o
3. (a) Design a single stage CS amplifier for‘{ﬁdia frequency range with 10
Av|=10,Ri =1M, °‘
using JFET BFW11 for zero tcm
Also calculate gain for the designcd ClI‘Clllt :
(b) Explain five parameters of JEEX, 10
P
4. (a) Derive relations of Av, ?jn Zo of CG configuration of JFET.

(b)

PDesign self bias mrc.mt ‘to meet the following specifications.

Vpp = 20V, Vp {“,T‘ZV Vgso = —2V: Rp = 1.8k. Comment on the
req‘wrement Df@ss and Vp. 2 0V
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5. Calculate Zin, Zo, Av, Vo, f 20 :_(:-"
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6. Write short notes on (any two) :— hq? 20
(a) Hybrid-n equivalent modelw .o
(b) Cascode amplifier. (Includé ac-dc analysis)
(c) Blasing circuit used f@f BIT
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